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Answer question no.1 (any four) and any six from the rest (from no.2 to 11)

1.a) Identify A and B

Os__CHs
0 A Zn-Hg / HCI 5
© + Hee—lci - —_—
2
b) Identify D
HBr/Peroxige
X D 2
c) Identify E
OH
-+
+ He-N=N —— F
2
d) Identify F
A+ RMgX F 5

e) In the complex [Co(en),Cl,], what is the coordination number of the central metal ion? 2
f) Give an example of double salt. 2

g) Write the [IUPAC name of [Fe(CO)s] 2



Answer any six (6x7)

2a) How would you detect Sulpher and Chlorine in laboratory. Explain with equation?

b) How would you confirm the presence of —COOH group in an organic compound? Give the
mechanism of DNP test.
3.a) Define enantiomer with proper example?

b) Draw the structure D and L lactic acid?

c) Assign R/S for the chiral centre in the given molecule

CHs COOH
Cl Ho CHs

4.a) Between the two compounds which will undergoes Sy” reaction at a faster rate?
H5C
H3C_C| and H'3_|C‘>_C|
3C

b) Write the products of the following reaction and state with reason which one is major product?

2 Alc. KOH
HsC—C ——CHs

H

5).a) What will happen RCOOH is treated with diazomethane-Explain with mechanism?

b) Identify M and N

HsC RMgBr HsO
0
H Et,O

c) Write a short note on REIMER-TIEMANN reaction.
6) a) Explain mutarotation with proper mechanism?

b) Synthesis any amino acid by using Strecker method.

7.a) Explain Markownikoff’s rule with proper example?

b) What is the final product of the reaction?



i) BH,

R-C=CH, - - X
i) OH, H,0

iii)H,0

T

c¢) Write a short not on Friedel-Crafts acylation.

8. a) Deduce the general equation for determination of radius of Bohr's first orbit in
Hydrogen atom.
b) Compare the first ionisation potential of oxygen and nitrogen. Give reasons.

9. a) Discuss the nuclear fission and nuclear fusion with example.
b) With the help of Hund's rule find out the number of unpaired electrons in Mn*" (Mn = 25)

10. a) Discuss the structure and shape of the following compounds with the help of VSEPR
theory
b) Dipole moment of NHj is greater than that of NF;. — Explain

11 a) Give a comparative account of the hydrides of F, Cl, Br and I
b) "SO, acts both as an oxidising as well as reducing agent" - Explain
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